~

-
(BHE -TBEEOMIFFIBE ) co2os3msianm) N L Y s m—

BamE (T2 LAY DEXRIXAICEZ<DOERLENEHEHLTOET,
SRIEHIX (137558) NSOERAEBENMREISHEE BHEPICEDB(T2LAIDEIE
1,345f8F3 (39.0%) EROBYTY,

2o LA 107558 L Liran ( ZEI=hil

2, 2731’

IO LATIES

A EED
(187548)
1,721481
(50.0%)

3,’454@5

99318
(50.9%)

BitiE
3,444(8M
(100%)

14, 1281%?] \ 10,67418F
(100%) (75.5%)
|

||I|é 042f8 ' .|||||8(51%%1$6H | |
(47.3% \ \ o, ’|
6,947
W aorae p "’ |.|||. l(so 9%) \ 5 ”l
= gl ly
:I_Iﬁ%;rg§ (57548) |t SrES .III'.--II [ o778

377489 (11.0%)
@ = A /N ANERTH

RamF
SRIEHIX (13/55)
2,8081%F (37.8%)

=
tH
E
78
-
D
1th
i
Al
5
Bk
=+

(38.4%)

| 9818
||||| (100%)

o T
(1875%) \ ?gf'foﬁ
3531153 | & Y gy
(47.5%) ny hpypme?
b _ (#1058
7,432(8M @511+ BBy - SE AT 1

=
(100%) oo LA 3ES —
500{2M ot
6.6%) (1.9%)
A " Tl Ty,
(43%) ~ )
AR A\A
\ 7,609 X o
e g\ 5\ e\ g
(B, | : | 1ee7iEm (
=A% K \ / N\ A
T (STE5H) \ L"I /
1,092 (14.7%) \|.. "||’ I|||. . ||l|’
" I iy
Ill——l ] .Illl--' | o1 7055
L [fumosm J

| FEREDOTOT74—IV | onzspnEme
MEANFEERD%REMREERICH e BEHRETAREE)

1,000 3L £~2,00075 i 2,0005AX% L 2,0005M £ 1005 K7
16,592\ (6.2%) 3,572A.(1.3%) 1,2034%F (19.5%) 17645F3(2.9%)
50075 X £~1,00075 K Lé.J7:°;53OOEH;Fﬁ
24,501.A(9.2%)

3005 E~

30075 L E~ 50075k

5005 9

13,526 (5.1%) BEH ELE ST41F3 (8.3%)
267,553\ 6,16118M

(100%) (100%)
50075 FLL E~
1,000
11,7488
(284

26,983 (10.1%)

K*EERFEABLESENRITERLTOET,

| BdEO7O74—IL | coosspsiame

(BHED%RBHEERICHTMESER)

SEMLLE~10EMER ]
395% (0.6%)

MR E~
S{EMARE
5425%(7.7%)

10EAX L 10fERE

50075 L E~1,0005 A
155 (0.2%) 2481 (7.9%)

11548 (3.7%)

SRR E~
0B3RS
275(%F3(8.8%)

%k B
7,0475%
(100%)

& ® ~
3,12508M
(100%)

KEHRIITERS00HMAU ENREZENRICIERL TVET,

17



